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234 353 67 868 9: ;<=>?@A 9 AB CA
x1 = −2, x2 = 3, x3 = 3,
σ1 = 2, σ2 = 2, σ3 = 1,
g = −2 + (3x3 + 3x1)/x2

234 353 67 8D 8 E >: CF 9G B HI J KCG ;F@L
x1 = 2, x2 = 4, x3 = 2,
σ1 = 4, σ2 = 2, σ3 = 3,
g = 7 + 5x1 − 4x2 + 4x3

234 353 67 8M 8 E ;:CN=CF O;CG K@P
Q @?>P:CF@L
x1 = 4, x2 = 3, x3 = 5,
σ1 = 2, σ2 = 2, σ3 = 2,
g = 5 + (2x3 − 5x1)/x2

234 353 67 8R 8 E CAS>G ;A<C 9 ASG ;P
x1 = −0.2, x2 = 0, x3 = 0,
σ1 = 3, σ2 = 3, σ3 = 1,
g = 0.4 + x1 + 4x2 + 3x2
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234 353 67 8T 8 O@:UI >ACF E N: >B
V >@: U;F@L
x1 = −2, x2 = 3, x3 = 4,
σ1 = 2, σ2 = 4, σ3 = 2,
g = −4 + (4x3 + 4x1)/x2

234 353 67 8W 8 X KCG CF Y =;FC: CS
Z @G @:: CF@L
x1 = −1, x2 = 0, x3 = 0,
σ1 = 1, σ2 = 3, σ3 = 3,
g = 2 + x1 + 5x2 + 2x2
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234 353 67 8[8 \ NG>F: ;F> 9 A>=B >=@]
x1 = −0.9, x2 = 0, x3 = 0,
σ1 = 2, σ2 = 3, σ3 = 2,
g = 1.8 + x1 + 2x2 + 4x2

3

234 353 67 8^ 8 _N`G @: UL;F a >A@@:
x1 = −3, x2 = 3, x3 = 6,
σ1 = 2, σ2 = 4, σ3 = 3,
g = −2 + (3x3 + 5x1)/x2

234 353 67 8b 8 JcCB CF dCI >A
J KCG ;F@L
x1 = 9, x2 = 3, x3 = 5,
σ1 = 3, σ2 = 2, σ3 = 2,
g = 4− 4x1 + 5x2 + 2x3

234 353 67 867 8 e N<>A@A 9: ;<=>ASG
f;G K;;F@L
x1 = −0.5, x2 = 0, x3 = 0,
σ1 = 1, σ2 = 3, σ3 = 3,
g = 1 + x1 + 4x2 + 3x2

3

234 353 67 8668 f;I ;ACF a I @BG @P
f;G K;;F@L
x1 = 17, x2 = 4, x3 = 4,
σ1 = 4, σ2 = 1, σ3 = 2,
g = 5 + (4x3 − 2x1)/x2

234 353 67 86D 8 fB ;g>ACF> fF;B:>A>
x1 = 0, x2 = 2, x3 = 4,
σ1 = 1, σ2 = 1, σ3 = 1,
g = −4 + (x3 + 3x1)/x2
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234 353 67 86M 8 �B <@A 9G B ;I
X FK;AU;F@L
x1 = −0.7, x2 = 0, x3 = 0,
σ1 = 1, σ2 = 3, σ3 = 3,
g = 1.4 + x1 + 2x2 + 2x2

3

234 353 67 86R 8 �G>gCF J F>A
V @<C: >;F@L
x1 = 16, x2 = 6, x3 = 2,
σ1 = 4, σ2 = 1, σ3 = 3,
g = 4 + (5x3 − 2x1)/x2

234 353 67 86T 8 �;G A�� ;F X KCG
Y >S@I CF@L
x1 = 16, x2 = 5, x3 = 3,
σ1 = 3, σ2 = 3, σ3 = 3,
g = 1− 4x1 + 7x2 + 6x3

234 353 67 86W 8
x1 = 5, x2 = 4, x3 = 2,
σ1 = 3, σ2 = 1, σ3 = 2,
g = 5 + (4x3 − 5x1)/x2

234 353 67 86[8
x1 = −5, x2 = 4, x3 = 4,
σ1 = 1, σ2 = 2, σ3 = 1,
g = −1 + (4x3 + 3x1)/x2

234 353 67 86^ 8
x1 = 14, x2 = 6, x3 = 3,
σ1 = 3, σ2 = 2, σ3 = 1,
g = 7 + (6x3 − 4x1)/x2

234 353 67 86b 8
x1 = 26, x2 = 2, x3 = 6,
σ1 = 2, σ2 = 3, σ3 = 2,
g = 5− x1 + 4x2 + 2x3

234 353 67 8D7 8
x1 = 9, x2 = 6, x3 = 4,
σ1 = 4, σ2 = 3, σ3 = 2,
g = 3 + (5x3 − 4x1)/x2

234 353 67 8D68
x1 = 24, x2 = 4, x3 = 3,
σ1 = 2, σ2 = 3, σ3 = 2,
g = 10− 2x1 + 6x2 + 4x3

234 353 67 8DD 8
x1 = −1, x2 = 2, x3 = 3,
σ1 = 2, σ2 = 3, σ3 = 3,
g = −4 + (3x3 + 4x1)/x2

234 353 67 8DM 8
x1 = −1, x2 = 0, x3 = 0,
σ1 = 1, σ2 = 2, σ3 = 4,
g = 2 + x1 + x2 + 4x2

3

234 353 67 8DR 8
x1 = −0.8, x2 = 0, x3 = 0,
σ1 = 2, σ2 = 4, σ3 = 1,
g = 1.6 + x1 + 4x2 + 5x2

3


